
Parts Diagram

Warning: This drawing format requires special non-standard fonts!!
Make sure the appropriate font files are installed!!!

TT Humanst 521 BT (page heading)
TT Humanst 521 BT Light (drawing title)

O HelveticaLTStd-Cond (table column headings)
O HelveticaLTStd-LightCond (table text and call-outs)

 Tables
®

Synthesis
Short Folding T Leg

June 2013

©2013 Krueger International, Inc.  All Rights Reserved · P0035-0089 · Rev. 0 · Page 1 of 1

KI · 1330 Bellevue Street · P.O. Box 8100 · Green Bay, WI 54308-8100 · 1-800-424-2432 · www.ki.com

Item Part Number Item Description Qty Item Part Number Item Description Qty
1 12.4017 Screw, 3/8-16 x 2 1/2 Hex Flange Spinlock 4 10 12.4401 Cap, Lock 1
2 46.2793 Mechanism, T Folding Leg 1 11 46.2708.FN Cover, T Base Transition 1
3 46.2758 Adapter, Short Fold T Leg Mechanism 1 12 46.2716.16.XX Tube, T Base Foot, 16" 1
4 12.2050.XX Clip, Leg 2 46.2716.22.XX Tube, T Base Foot, 22" 1
5 12.7409 Screw, #6-32 x 1 1/4 PFH T/C 2 13 46.2699.XX Cap, Foot End 2
6 46.2727.29.XX Column, Folding Leg, 29" 2 14 12.0486 Nut, 5/16-18 Rivet 2
7 46.2791.XX Tube, Folding T Base Pivot 1 15 46.5026.XX Glide 2
8 46.2734 Pin, Folding T Leg 1 16 12.0327 Screw, 10-24 x 3/8 TX PH TAP 2
9 46.2735 Bushing, Folding T Leg 1

.XX = Select Color

2

3

4

5

7

12

11

13

14

15

16

8

9

10
6

1

1


	Sheet 1
	Views
	new_view_1



